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XEBAY- REHEIEEFEDOARESH ., RBER - FENER-RYTITIIERS

(FHM2F12A LWEERR)
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BAEE |[CEEE-/NMEFIAEE| AR T |zo5s68| REM |zo5sa8 FKYZ
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RO34E & &t 2,628 843 770 88 642 37 199

RO24E £ =11 2,624 983 916 115 752 74 231

R03-R02 R 4 -140 -146 -27 -110 -37 -32
REERE-ZTE

Al |SELE-/NMR|FIAEE| FAR T |zo5s68| REHN |zo5sa8 FKYZ
BREEEM

ik 200 59 65 6 48 4 11

At &R 196 59 58 5 48 1 11

b &B 164 46 66 11 41 4 5

¥ oH 196 67 64 7 45 3 22

N3 R 134 39 33 8 37 5 2

B 193 62 58 13 41 5 21

7% 122 50 30 4 36 2 14

=&RK 96 36 18 3 19 3 17

dt#rH 105 29 24 5 22 3 7

A EEED | REFEAREH 149 34 76 5 34 0 0

BER 176 42 58 6 42 1 0

HMHWITET 90 23 18 0 22 0 1

Fh3IL HEDIXZ 116 33 35 2 27 0 6

HITEILLD 40 19 10 0 19 0 0

HMNFHDT 116 41 50 7 26 3 15

FAWL 130 32 44 4 32 2 0

s L4 E %ugj&b\o% 132 47 35 1 31 1 16

FY Y=Y R 78 21 12 1 11 0 8

BHIERTIRI—IL 50 22 2 0 3 0 19

S—RT7HMT 19 8 4 0 8 0 0

=AIEIFESHHY 12 7 0 0 2 0 5

L =)L 19 9 0 0 4 0 5

FAEENCOE 19 11 1 0 7 0 4

IR L H—ILEALL 19 9 1 0 6 0 3

TEI—RHHULMFIZL 19 11 0 0 8 0 3

F=AIXIENCOER 19 8 0 0 4 0 4

AHDIE 19 19 8 0 19 0 0

RO3FEE =1 2,628 843 770 88 642 37 199

RO2FE =1 2,624 983 916 115 752 74 231

R03-R02 =i 4 -140 -146 -27 -110 -37 -32




MEAMIF1FEZTHLAALEAR REBEE2HFLLUBRETRLAALABRZSD,

MEZAB-RERIEEFLEDAHESE,

REE-FEE

OFIR [CEBE-/MMR| TE | AR | 2 |cona8| REH (o588 EYR
BREEEM

FaER 12 12 12 0 12 0 0

It &R 12 12 6 0 11 0 1

&R 9 9 11 0 9 0 0

#oH 9 9 7 0 9 0 0

NV BER 0 0 0

A Eh 12 12 11 0 12 0 0

% 6 6 7 0 6 0 0

=&KX 6 6 4 0 6 0 0

dt#H 6 6 5 0 6 0 0

2 (ErE®)| KEAKERA 15 14 32 0 14 0 0

BER 12 12 12 0 12 0 0

HHWNTET 6 6 6 0 6 0 0

NV HEDIXZ 12 12 15 0 12 0 0

HTEDPBBH 6 6 1 0 6 0 0

HHNTFHDT 6 6 11 0 6 0 0

FAWL 9 9 11 0 9 0 0

o L %n%&b\o% 8 8 5 0 6 0 2

FyXY—NHR 9 9 3 0 3 0 6

BHERTIRI—IL 0 0 0

TI—RTHMN 3 2 1 0 2 0 0

AIEIESHHY 2 2 0 0 0 0 2

L I—)L 1 1 0 0 0 0 1

T AIRIEMCOE 2 2 0 0 0 0 2

MR L H—ILEALL 2 2 1 0 2 0 0

TI—R7HHLMFIZL 2 2 0 0 0 0 2

FAEENCOER 2 2 0 0 0 0 2

HDIE 3 3 0 0 3 0 0

RO3EE &t 172 170 161 0 152 0 18

RO2EE &t 177 174 193 0 162 0 12

R03-R02 3751 -5 -4 -32 0 -10 0 6




REE-FEE

1HE |CERE-NMR| EB | AR | 2 |zo5suE| RER [2o506m| KUY
BREEEM

ik 20 8 25 1 8 0 0

It &R 24 12 15 0 12 0 0

&R 16 7 18 1 7 0 0

#oH 16 7 19 3 7 1 0

NV BER 20 20 23 6 20 3 0

A Eh 16 4 14 2 4 0 0

7% 8 2 9 2 2 0 0

=&KX 8 2 4 1 2 1 0

dt#H 12 3 5 1 3 0 0

SrEEE® | KEFEKREH 20 9 13 0 9 0 0

BER 20 10 14 3 10 0 0

HHWNTET 14 9 6 0 9 0 0

FLIL HEDIXZ 16 5 11 1 5 0 0

HTEDPBHH 16 10 8 0 10 0 0

HHNTFHDT 14 8 20 3 8 2 0

FAWL 16 7 7 0 7 0 0

T %ng&b\o% 16 8 12 0 8 0 0

FYXY—INDR 15 6 6 0 6 0 0

BHERTIRI—IL 0 0 0

S—R7HMNT 8 6 3 0 6 0 0

AIEIESHHY 5 2 0 0 2 0 0

L I—)L 9 7 0 0 3 0 4

FARENCOE 9 8 1 0 6 0 2

MR L H—ILEAL 8 6 0 0 3 0 3

TI—R7HMNIFIZL 9 8 0 0 8 0 0

FAEENCOER 9 6 0 0 4 0 2

HDIE 8 8 4 0 8 0 0

ROSEE HEt 352 188 237 24 177 7 11

RO2EFE &t 335 178 254 18 174 5 4

R03-R02 =i 17 10 -17 6 3 2 7




REERE-ZTE
2R |CELE-MR| BE | FAR | R4 |zonaR| RRER (20588 YR
BERESEM
ik 24 5 8 3 5 2 0
It &R 24 5 14 4 5 1 0
th &R 18 3 13 7 3 1 0
o H 24 8 10 1 8 0 0
/Y] BER 24 6 3 0 6 0 0
b 24 8 9 0 8 0 0
it 18 10 5 2 10 2 0
=&RK 12 5 7 0 5 0 0
dt#rHE 18 6 8 2 6 1 0
A EEER) | KEFEAREH 24 4 16 2 4 0 0
AR 24 4 10 3 4 1 0
HHWNTET 16 6 4 0 6 0 0
Fh3L HEDIXZ 18 6 6 1 6 0 0
HITEILLD 18 3 1 0 3 0 0
HHMWNTHDT 18 4 11 4 4 1 0
FAWL 24 12 18 4 12 2 0
P %ué\@t»o% 24 10 8 0 10 0 0
FyRYY—HR 15 4 1 0 2 0 0
BAERTYRI— L 12 12 0 0 1 0 11
S—R7HHT 8 0 0 0 0 0 0
EAIEIFSHEHY 5 3 0 0 0 0 3
L =)L 9 1 0 0 1 0 0
FAEENCOFE 8 1 0 0 1 0 0
IR L H—ILEALL 9 1 0 0 1 0 0
S—R7HMFIZL 8 1 0 0 0 0 1
= AIEENCOER 8 0 0 0 0 0 0
HDIE 8 8 4 0 8 0 0
RO =11 442 136 156 33 119 11 15
RO24EE =11 442 163 176 38 138 18 25
RO3-R02 1 0 -27 -20 -5 -19 -7 -8




3R [geE-zecriE] TB | 2 AR | 28 [zovaE] RER [os-am] EUR

FaER 45 23 15 1 18 1 5

It &R 40 16 19 1 16 0 0

i 40 23 19 2 21 2 2

#oH 40 16 22 1 16 1 0

NV BB 30 9 7 2 9 2 0

b 40 16 21 9 16 4 0

i 30 15 8 0 15 0 0

=&RK 22 12 2 2 5 2 7

dt#HH 20 5 5 1 5 1 0

A EEEE) | KEFEAREH 30 7 14 2 7 0 0

BER 40 16 21 0 16 0 0

- HHWTET 18 1 2 0 1 0 0
FAST - —

HEDHIEXZ 20 3 3 0 3 0 0

HHNITFHDT 25 9 7 0 7 0 2

FAWL 27 3 3 0 3 0 0

e — s MEHMOE 28 6 9 1 6 1 0

BE-ELE FyRY—H R 13 -1 2 1 0 0 -1

BHERTURI—IL 16 5 0 0 0 0 5

RO3EE =111 524 184 179 23 164 14 20

RO24E =111 523 244 196 27 194 26 50

R03-R02 =D 1 -60 -17 -4 -30 -12 -30

4R [rEBE-2ecctB] B | 2 AR [ 2R [zosul] RER [z050u8] EUR

78 &R 49 10 4 1 4 1 6

It &R 46 6 0 0 0 0 6

th&p 40 3 3 1 1 1 2

#FoH 52 14 4 1 4 1 10

N3 BB 30 2 0 0 0 0 2

b 52 22 2 1 1 1 21

iy 30 15 0 0 2 0 13

=ARK 23 4 1 0 1 0 3

L3 H 24 4 1 1 2 1 2

2 EEEE) | KEFEARAEH 30 0 1 1 0 0 0

AR 40 0 1 0 0 0 0

- HHWTET 18 1 0 0 0 0 1
FhIT - —

BEDHIER 25 6 0 0 1 0 5

HMNFHDT 26 1 1 0 1 0 0

FAWL 27 1 1 0 1 0 0

o i %né?ﬁm\o% 28 5 1 0 1 0 4

Xy XY—NHYR 13 0 0 0 0 0 0

BAERTYRI— L 10 2 1 0 1 0 1

RO =11 563 96 21 6 20 5 76

RO24E £ = 565 110 73 29 62 22 48

R03-R02 =i -2 -14 -52 -23 -42 -17 28




5ERE [geE-zeciilE] TE | 2 AR | 2N |zosaE] RER [£o56a8] EUR
ik 50 1 1 0 1 0 0
b1 50 8 4 0 4 0 4
ki 41 1 2 0 0 0 1
#oH 55 13 2 1 1 0 12
NV BER 30 2 0 0 2 0 0
FaEh 49 0 1 1 0 0 0
7% 30 2 1 0 1 0 1
=&KX 25 7 0 0 0 0 7
dt#H 25 5 0 0 0 0 5
SrEEE® | KEFEKREH 30 0 0 0 0 0 0
BER 40 0 0 0 0 0 0
- HHWNFET 18 0 0 0 0 0 0
Fh3L - —
HEDHIEXZ 25 1 0 0 0 0 1
HHNTFHDT 27 13 0 0 0 0 13
FAWL 27 0 4 0 0 0 0
T %ng&b\o% 28 10 0 0 0 0 10
FyXY—NHR 13 3 0 0 0 0 3
BHERTYRI— I 12 3 1 0 1 0 2
RO3EFE HEt 575 69 16 2 10 0 59
RO2EFE HEt 582 114 24 3 22 3 92
R03-R02 1R -7 -45 -8 -1 -12 -3 -33
REE-FZEE
FAGH| CELE MR ER | RAR | RAH |zo5seE| REHY (o568 FY#
BREEEM
O% /R 172 170 161 0 152 0 18
1R 352 188 237 24 177 7 11
2mR 442 136 156 33 119 11 15
3mR 524 184 179 23 164 14 20
4% R 563 96 21 6 20 5 76
5mR 575 69 16 2 10 0 59
RO3EE A5t 2,628 843 770 88 642 37 199
REERE-ZETE
FRAEEH| CELE-/MR| WEER | FIAE | HE
BREEEM
Om/R 94.4 89.5 154
1R 74.7 96.9 341
2R 76.3 96.6 427
3m R 91.6 96.2 504
4% R 95.2 86.5 487
5B 62.5 89.7 516
RO3EE =1 83.4 92.4| 2429




